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IW‘:TMZI} questions are compulsory. .
. ~ stion paper has two sections A’and ‘B’

Hj Thlfi:: CfA’comains 20 multiple choice type questions of 1 mark
" :::::h that has to be answered on OMR Answer Sheet by darkening
completely the correct circle with blue or black ballpoint pen.

iv) After giving answer on OMR Answer Sheet do not cut or use eraser,

whitener etc.

v) Section ‘B’ contains descriptive type questions of 50 marks.

vi) Total § questions are there in this section.

vii) In the beginning of each question it has been mentioned how many
parts of it are to be attempted.

viii) Marks allotted to each question are mentioned against it.

ix) Start from the first question and go up to the last question. Do not
waste your time on the question you cannot solve. |

x) If you need place for rough work, do it on left page of your answer
book ‘and cross (-x ) the page. Do not write the solution on that
page. | . |

xi) Do not rub off the lines constructed in a question of construction.
Do write the steps of construction in brief, if asked. _

xil) Draw neat and correct figure in solution of a question wherever it
is necessary, otherwise in its absence the solution will be treated

incomplete and wrong.

queg - J
Section - A

( Sgfaedta e )
( Multiple Choice Type Questions |
L. w%mwmﬁiﬁ@ﬁmmwwﬁﬁm@mm_
(A) & B) d

€y = (D) =X 1

1. The maximum number of tangents drawn from an external pojng
0 a

circle will be

(A)  one (B} two
(C)  three (D) four
7000/70 1
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(A) 3 3 | B 3

€ 7 (D) 8

The distance of point ( 7, 3 ) from y-axis will be
. 7

®) 3 B 3

< 7 (D) 8

I psinB=qgcos® @ cosec 6 FI AH B

w AErd g A
_—

q
© =2 h D) et
p’+q’ vo'+d’

If psinB=gcos0, then the value of cosec 6 will be

2 2 | 2 2.
A Y29 B) VP g
| q P
© —=£ i I
Vg p’+q°

tan 1° tan 2° tan 3° ... tan 88° tan 89° F TH AN

A o B =

© 2 D) 1

The value of tan 1° tan 2° tan 3" ... tan 88° tan 89° will be
A o | (B) —J%

© 1 D) 1

. gf¢ wfiem 3x2+5x—q=0%@'{m§,?ﬁqﬂmﬁfm

25 _
N -1 B -2
5 9
(C) 13 D _12
25 (D) 35
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5. If the roots of equation 3x2 +5x-g=0 are equal then the value of g wil]
25 °
25 : B -
A -1 . (B) 5
9 12
- (€ 5'5' : (D) 25 | ]
6. WA @ - 62, - 59, ... 7, 10 F1 ARgAl wg EM
w3 (B) -32
(C) =30 D) -28 |

6. The cleventh term of the A.P. - 62, - 59, ... 7, 10 will be

(A) -34 | B -32

€ -30 (D) -28 o
7. 3G P(E)=0-05d P(E) H 4H &M

@) 092 (B) 093

(C) 0-94 - (D) 095 | 1
7. If P(E)=0-05, then the value of P(E) will be |

(A} 0-92 (B) 093

€ 094 DL 095 1
8. UH AN H 3 A IS mﬁiérwﬂéﬁ@ﬂawﬁwﬁwg,ﬁaﬁ

CISEGEEEARCE T Ry S

(A)

C—

(B)

nlw  oojw
ool

(C) (D)

=

1

8. A bag contains 3 red and 5 black balls, One baIl is drawn o

ut at random.
The probability of it being red ball will be |

3
" 3 (B) .g.
© 2 1
5 (D) 3 |

-~ T000/70
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5
o fwa il DE| | BC, @ CE & 91y grft
A
1-3 |t 1-5 §t
D E
39 Tt
B C
A) 55 3a B) 503
(€) 4-8 &t D) 4-53M 1

9. In the figure, DE| | BC, then the measure of CE will he

A 55em (B} 50cm

(C) 4-8cm . (D) 45cm 1
10. T3 & AMNL @1 APQR § ZM = £Q = 70°, MN = 3 ¥, ML = 4-5 ¥

PQ =2 T qu1 QR = 3, i frfefian & &t &

p
2 wHft \
70°
_ R
(A) ANML ~ AQPR (B)  ANML ~ AQRP
(C) ANML~ APQR (D) wH§ g

7000/70 _
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10. In the figure, in AMNL and APQR, <M = Z£0Q

will be
M
P
2cm
A70°
N R
, Q 3 cm :
(A)  ANML ~ AQPR - (B)  ANML ~AQRP |
(C)  ANML ~ APQR (D)  None of thesc 1
1 = - .
1. 7 ol =& & el &1 gy g
A) X @ 2 .
() 5 & B dd 2
R T |
© % I (D) r Qe 2 , 1
11.. The surface of a sphere of diaméter' -% k;m will be
n 2
(&) 7 em (B) 7 cm?
W X 2 '
(C) 3 °m (D) =« em? 1
12. 6 8l B & 99 &1 w9 ¥ w300
H B A 3
| 9Tq
o |1 1 47
T
@ 7 ® 2
. .
€ 3 g @ ~ah ‘ 1
12, An arc of a circle of radius & 5 |
The m o om sulbtenda, an angle of 30° at the centre
casure of corresponding arc will be '
Ay XL
) 3 °m (B) :} cm
) =
5 cm (D) xem
7000/70
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13.

8 fag O W frewdt 21 3l 00 = 12 A, & po H wm B

(A) 128 (B) 133 |

() 8-5uh (D) JiTo &t 1
13. The tangent PQ of a circle of radius 5 cm meets at a point Q on the line

passing through the centre O. If OQ = 12 cm, then the mcasure of

PO will be | |

(A) 12cm (B) 13cm -

(C) 85cm O) Vil9em - 1
14. &A1 182 991 78 HCF g |

A 13 | B 26

(C) 28 | (D) 39 | | 1
14. The HCF of the numbers 182 and 78 will be

(A) 13 (B) 26

(C) 28 (D) 39 1
15. @%ﬁ?%mmﬁﬁ@ﬂssﬂtﬁslﬂﬁmm84@1ﬁ€f A IgeT

THTE 8% BN |

(A) 54-8 n @ 2 (B)  56-4 @} 2

(C} 566 nﬁtﬁg_ + (D) 588 x 2 o 1
15.  The radius of the base of a cylinder is 3'5 cm. If its hcight: be 8:4 cm, then

its curved surface area will be '

(A) 54-8mcm? - (B) 5647 cm?

(C) 5667 cm? (D) 588ncm? | o
16, 4%%@1@@@%&@@3@%600%3?% HAReT BT

(A) 6 nadt? ~ (B) 8nudt?

() %n@nﬂ 2 (D) 3 B 2
7000/79
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16. The angle of a sector of a circle of radius 4 cm is 60°. Its area will be -

(A)

(C)

6ncm2

8 2
—7n Ccm

3

(B)

(D)

81rcm2

2
3ncm

17. fgum et x2 4 x-1=0 %1 fafaement gom

(A)
(C)

17.  The discriminant of the quadratic equation x”+x-1=0 will be

(A)
(C)

18. fguma Tfieor 1-4x+4x2 -0

-4
4

-4
4

(B)

(D)

-5
2

- (B -5
D) 2

& el ®1 ATES B

" B -1
(D) 2

18.  The sum of the roots of the quadratic equation 1-4x+ 4x% =0 will be

(A) -2 B) -1
(C) 1 | (D) 2 1
19. fr=fefiga wfoft @ qre g
a7l - AT 0-10 | 10-20 | 20-30 30-40 40-50
ATl 4 7 5 8 6
(A) 2462 (B) 2666
(C) 28-64 (D)  30-50 1
19. The mean from the following table will be
Class-interval 0-10 10-20 | 20-30 30-40 40-50 |
Frequency 4 7 o 8 6
(A)  24.62 (B) 2666
(€) 2864 (D) 30-50
1
TONN /f7n
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20. |ﬁ“ﬂ%ﬂﬁﬁ7¥ﬂﬂvﬁisrumaﬁﬁinféhn
REE 0-10 10-20 | 20-30 30-40 40-50
- SR 8 6 11 18 6
(A) 10-20 (B) 20-30
(C) 30-40 (D)  40-50 1
20. The median class of the following table will be
Class-interval 0-10 10-20 20-30 30-40 40-50
Frequency 8 6 11 18 6
(A) 10-20 (B) 20-30
(C) 30-40 (D) 40-50 1
QUg -§
Section - B
( Ut U9 )
( Descriptive questions )
1wt @vg wif -
(a) 3l famg (x,5)aw (2, —3)%iﬁaﬁ§ﬁ 17%% =h x & UH §1a
Hif | . | | 5
b ARG (1,4),(a-2)3 (-3, 16) FE@ 2. A o 7 T 7w Aif o
1+sm9 cos6 ' ,
(0)  forg ifore cosf 1+sin6 = Zsecd. 2
) e aRERa 9o @ MeEE J@ S . )
- AT 0-10 10-20., 20-30 30-4C 40-50
AT 6 9 20 '15 9
o) wEnait 92 stk 510 #1 LCM 7@ Hifv |
2
0 fag ﬁﬁm % J3 & wuftly g@n 2
2
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https://www.upboardonline.com




822(1A)

). Do all the parts :

(a)

10

If the distance between the points ( x, 5)

then find the value of x.
Ifthepoints(1,4],(a,~2]and(..3

and (2, -3) is 17 units,

2

,l 16 ) are co]liriear, then find

(b) )
the value of a.
1+sin® cosO0 2
(c) Prove: 550 1+sin0 - 2sec0.
(d) Find the median from the following [requency distribution : 2
Class-interval | 0-10 | 10-20 | 20-30 | 30-40 | 40-30
Frequency 6 9 20 15 9
(¢) Find the LCM of the numbers 92 and 510. 2
() Prove that J3is an irrational number. 2
0. f&=t ot @vel &1 g St
(a) Feferflga afoflt @ age @ Hif 4
SESU 0-10 | 10-20 | 20-30 | 30-40 | 40-50
IR 6 1 21 23 14
(o) Rrg Bt fr et wm farg @ g7 w0 Eiteht et Yanott i ezt W
2t 21 https://www.upboardonline.com | .
(c) B ABC# YW1 BCR @ g D ¥ v R 2 R zapc - pac
21 fag i 6 ca?=cB . cp 2 .
d) @ 3= 6 T T F FA H A 7 . .
l!.'q’f A 9} T HS B0 T wm s siey )
AR R W W 2 T R WR G A hifdng
. . 4
(©) fum wfiE 2x2 - 554 3=0 H & Afdy
. ' 4
{
f ‘iﬁ@ﬂ%ﬁq&m&on‘taﬂtﬁmsmﬁzg’a N
W""‘“ﬁmnﬁm%ﬁsmﬁ,aﬁgﬁazwa, | |
7000/70 | 4
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Do any five parts :
(@) Find thc mode from the following table : 4
Class-interval 0-10 10-20 20-30 30-40 40-50

Frcquenr:y ¢ 11 21 23 14

(b) Prove that the lengths of tangents drawn from an external point to a

circle are equal. o 4
(€} D is a point on the side BC of a triangle ABC such that
ZADC = /BAC. Prove that CA2=CB . CD. 3

(d} The sum of the digits of a two-digit number is 9. 9 times of this
- number is equal to 2 times the number formed by reversing the

digits. Find the number. - o . : 4

(¢} Solve the quadratic equation 2x2-5x+3=0 . ' 4

(f) If the perimeter of a ga'rden of area 800 m? is 120 m and its length is

twice the breadth, then find its length and breadth. 4
frfifiae weeo g Hifim - | 6
Sx-2y-_p X, ¥_13
273YTTA 3y

HYar

3 AP, % TUm 51wﬁwﬁnm~ﬁﬁﬁ%ﬁ%@iﬁﬂ?ﬁm%m:
14 3 18 . S ¢
Solve the following equations : .- I | 6

3y Sy-_p x Y 13
2X"3Y="2 353

OR

Find the sum of 51 terms of an A.P. whose second and third terms are

14 and 18 respectively. 6
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o A S g A R 2 10 7 6 g v o 5

ﬁ@%wmmwsoaﬁmm%m@ﬁmmaﬁrﬁm 6
wo |

50 M S T 1 9w @ B w0 AR IR YR F I IO

45° T 60° B @Y & F=E yra Hifdy | B 6

A flagstaff stands on a tower. At a distance 10 m from the tower the

angles of elevation of the top of the tower and ﬂagstaff are 45° and 60°

respectively. Find the length of the ﬂagstaff | 6
. _ OR .

From the top of tower of h:aight S50 m, the angle of depression of top and

bottom: of a pillar arc_45" and 60“ respectively. Fl:nd the height of the

pillar. 6

5. 15ﬁnﬁﬁwaﬁaﬂaﬁﬁéaﬂm€quo°wwmﬁawﬂ%m§aﬁwﬁd

mﬁ%mmml n-314J‘173} o 6
v

aﬁ%@%%%%@m%%ﬁﬂm@mmﬁvﬂ%i
afg Je H Far 10%3#{%@%@135%% ?hs@raﬁww@qﬁa
CEER RIS R o 6

5. A chord of a circle of radius 15 cm subtends an angle 60‘“ at the centre.

Find the area of minor and major sectors of the circle, |

(=314, y3=173) | | B
| OR

By taking out a hemisphere from both the ends of a wooden solid

c¢ylinder, an item is formed. If the height of the cyhnder is 10 cm and

radius of base is 35 cm, then find the total surface area of the item. 6

822[}"" - 3,28,000
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